1.0 GENERAL NOTES

4

1.1 ALL METRIC DIMENSIONS ARE IN BRACKETS [X. X]
1.2 FOR PATENT INFO: https://www.cs-pat.com

2.0 DESIGN NOTES
2.1 MAXIMUM EQUIPMENT WEIGHT PER MOUNTING BRACKET = 50KG (110 LB)

[2.2> BOLTS/NUTS/WASHERS USE TO ATTACH INTERFACE BRACKET TO RADIO ARE TO BE PER RADIO

MANUFACTURERS SPECIFICATIONS INCLUDING TORQUE.

3.0 MANUFACTURING/SPECIAL REQUIREMENTS
3.1 THREADED ROD : TORQUE 310.0 IN-LB OR 35.0 N-M
CARRIAGE BOLT : TORQUE 150.0 IN-LB OR 17.0 N-M

4.0 TEST
5.0 PACKAGING

5.1 PACKAGING SHALL MEET COMMSCOPE REQUIREMENTS PER DOCUMENT |S-PL-3005

5.2 PRINTED DOCUMENT TO BE PLACED INSIDE POLYBAG AND THEN IN SHIPPING CONTAINER

5.3 EXTRA HARDWARE MAY BE SUPPLIED, BAGGED AND SHIPPED

1T 1

12.18[309.5]

{o0)

o0 O &
o ¢)

0] (¢
00 0 &

C® O 00 )

0]

(0]

C®» O 0®0 0

()

(o)

(15.3[387.4])

FITS 2-3/8" OD ~ 6" OD PIPES
FOR 90 DEGREE ANGLES UP TO 4.5"
FOR 60 DEGREE ANGLES UP TO 6.0"—

COMPONENT PART NUMBERS PROVIDED FOR ASSEMBLY PURPOSES;
INDIVIDUAL COMPONENTS MAY BE SHIPPED AS PARTS WITHIN AN INCLUDED KIT.

ITEM PART NO. DESCRIPTION QTY. WEIGHT NOTE NO.
1 MTC378905-00 |BRACKET, RRU MOUNTING, RR-FAX 4 7.35LBS
2 MTC378904-00 |{CLAMP FOR FA4, GALV 2.23LBS
3 MTC378907-00 |CLAMP FOR APEX4 3.47LBS
4 MT-379 112" X 12" GALV THREADED ROD 0.66 LBS
5 GWF-04 112" GALV FLAT WASHER 12 0.04 LBS
6 GWL-04 112" GALV LOCK WASHER 12 0.01LBS
7 GN-04 172" GALV HEX NUT 12 0.04 LBS
8 MTC8196 3/8 X 1-1/4" CARRIAGE BOLT 24 0.052 LBS
9 GWF-03 3/8" GALV FLAT WASHER 24 0.01LBS
10  |GWL-03 3/8" GALV LOCK WASHER 24 0.01LBS
11 GN-03 3/8" GALV HEXNUT 24 0.02LBS
12 MTC9415 M8 X 25mm HEX BOLT SS 16 0.032LBS
13 MTC9419 M8 FLAT WASHER SS 16 0.004 LBS
14 MTC9418 M8 LOCK WASHER SS 16 0.002 LBS

4

DETAIL C
SCALE2:5

@ 2024 CommScope, Inc. Confidential

RADIO MOUNTING HARDWARE

REVISIONS
REV. DESCRIPTION DATE APPROVED
NSUN YZ1080
A INITIAL RELEASE 24AUG24 | 40202740CMO
YX1027 YZ1080
B UPDATED FOR BRACKET CHANGE SOC | s0otaatono

T~

DETAIL B
SCALE 1:2

SECTION A-A
SCALE1:5
PACKAGING
COMMSCOPE, INC. OF NORTH CAROLINA
TOLERANCES SAP MATERIAL MASTER
1PLACE X[X]z 0.25[6.3] 3 PLACE XXX[.X] + 0.06[1.5]
OPLACE XX(X]+ 0.12[3.0]  ANGLES +  2° RR-APEX4-E
FINISH MATERIAL
o3 NAME DATE TITLE
5gg  [CE NS 2R RRH MOUNT,ERICSSON,4-RADIOS
%2> |RW|YMENG 10/09/2024
DENSITY Ibs/in® g % g W
MASS |47.08 los %5% AD | YZ1080 10/09/2024
VOLUME |165.76 in? %%g RE [YMENG 10092024 | SCALE | DOCUMENT NO.
SURFACEAREA 277026 in* | 332 [Ecy 40204940CMO 1:6 RR-APEX4-E
HEIGHT |11.0" SIZE Auth Group INSL MODEL DRAWING SHEET
LENGTH [18.0" VERSION | STATUS | REVISION | VERSION | STATUS | REVISION
WIDTH | 155" C @ 6 01 RE C 01 RE B 10F7

2




DETAILD
SCALE 1:3

APPLICABLE PIPE DIAMETER FOR INNER HOLE

FOR POLES TO 2.375" ~ 4.5" IN DIAMETER
SHOWN FOR REFERENCE
(SOLD SEPARATELY)

DETAILE
SCALE1:3

APPLICABLE PIPE DIAMETER FOR EXTERNAL HOLES

@ 2024 CommScope, Inc. Confidential

FOR POLES TO 4.5" ~ 6" IN DIAMETER
SHOWN FOR REFERENCE
(SOLD SEPARATELY)

COMMSCOPE, INC. OF NORTH CAROLINA

TITLE

RRH MOUNT,ERICSSON,4-RADIOS

SIZE SCALE DOCUMENT NO.
C | 112 RR-APEX4-E
DRAWING
SHEET
@ 6 VERSION STATUS REVISION
01 RE B 20F7

]



MOUNTING HOLES POSITION

———

1.18[30.0]

~—3.15[80.0] —=

pC

~——4.33[110.0] —=

—
|

"D": 4435/4460/1281/5322
"E": 4415/4426/4478/6308

@ 2024 CommScope, Inc. Confidential

O ||| ©
C__
— ) <3§§§$y\
Dl A |E E A |D
_G_\ N /Y N JARWAR)
% \é N U B\J U ‘ ‘
| -G) | - | r\ |
C cr’ 3.15[800] A
4.33[110.0] 4.33[110.0]
.@B L BO. Y 3.15(80.0]
@qﬁ f:\ /A Af:\f:\ ' '
D ~C TE cr \/D
)
AL
O | o
. [ [
\SJ=)
"A": 4449/4467/4490/4890/8843/8863
"B": 4455
"C": 4455

COMMSCOPE, INC. OF NORTH CAROLINA

TITLE

RRH MOUNT,ERICSSON,4-RADIOS

SIZE

SCALE

DOCUMENT NO.

C| 12 RR-APEX4-E
DRAWING
SHEET
@ 6 VERSION STATUS REVISION
01 RE B 30F7



D

4

3

BRACKET COMPATIBLE WITH 4449/4467/4490/4890/8843/8863 RADIO MOUNTING ON RR-APEX4-E
OPTION 2

OPTION 1

RRU4449 SHOWN FOR REFERENCE ONLY

(RRUs ORDERED SEPARATELY)

RN

|

cg © © go°
© e

o © O go

~-.° K °.-
E

4XM

U

L

8 HARDWARE

| g
)‘
=
5y
D)
S

(RRU 4449/4467/4490/4890/8843/8863 MOUNTING)

(NEAR SIDE RRU HIDDEN FOR CLARITY)

B %\\}

ST
S

3.15[80.0] — ==

“ : 5 = _J
"—x

eSS ————)
\\\\\“\ DD Tk
| | I IL'"!!!:\\ S —
SSH=—— -

o) D)
N\ U

!

4.33[110.0]

'

I §Or_

O

MOUNTING HOLES POSITION

(RRUs ORDERED SEPARATELY)

RRU4449 SHOWN FOR REFERENCE ONLY

4X M8 HARDWARE

(RRU 4449/4467/4490/4890/8843/8863 MOUNTING)
(NEAR SIDE RRU HIDDEN FOR CLARITY)

COMMSCOPE, INC. OF NORTH CAROLINA

TITLE
RRH MOUNT,ERICSSON,4-RADIOS
SIZE SCALE DOCUMENT NO.
C| 14 RR-APEX4-E
DRAWING SHEET
@ 2024 CommScope, Inc. Confidential @ 6 VET;'ON STQTEUS REVI;ION 40F7
|



4
BRACKET COMPATIBLE WITH 4455 RADIO/AIR MOUNTIN

OPTION 1

\
\\\
{

RRU4455 SHOWN FOR REFERENCE ONLY

' (RRUs ORDERED SEPARATELY)

W
\

) (N

|| - -RRANHRNAE AN -y

9%/

ii” g c

A\

AN d G

/2
i @ ﬁﬁl‘i////
1°—
o

N
Q

s
22>
4X M8 HARDWARE
(RRU 4455 MOUNTING)

(NEAR SIDE RRU HIDDEN FOR CLARITY)

3

G ON RR-APEX4-E

3.15(80.0] —f=-—=—

OPTION 2

R

I §O

O

o -0

O

@ @

3.15(80.0]

<+L—0

o0 O O OO

OPTION 1

e

I §Or

+

=1 —3.15[80.0]

%

3.15[80.0]

OPTION 2

MOUNTING HOLES POSITION

+

{

&\,\,\,\\\(\,\S}
BEBEEEELN

o

NN

\_// N
N

N

¢
I
'/;7/;7/;) BN

@ 2024 CommScope, Inc. Confidential

"' "‘o:'\w
&, -

(
S o \
ey 7 W W TN »’.l.l”',.
7, 'EQ’(’A'['A’[ /4
7/ YA A DY L7 18728 2580 A
0' "
2/
6
/N
2
e
) o~
0SS
N
0' ’
o
&

]

RRU4455 SHOWN FOR REFERENCE ONLY

4 (RRUs
% —
). 7 . -
Q \ = 3
Q = = =4 h
> N = — &2
(3%) _ A
= L5 (2
N '@l—j\)
G, 1
il N 2 g
O
=] [=|

ORDERED SEPARATELY)

= <
7
7
4X M8 HARDWARE 77
(RRU 4455 MOUNTING) //

NN

\

(£

A H I I S-S

NMMANSN

\\\\

o"
[ A\
€ &6 \
) ) 0
) )
® o Vo
o o Y
)
L S
(Y

(NEAR SIDE RRU HIDDEN FOR CLARITY)

\\\‘

.

&
g
A
\

N

‘i

S NN\

NAN

N

7/

Z

COMMSCOPE, INC. OF NORTH CAROLINA

TITLE
RRH MOUNT,ERICSSON,4-RADIOS
SIZE SCALE DOCUMENT NO.
C| 112 RR-APEX4-E
DRAWING
SHEET
@ 6 VERSION STATUS REVISION
01 RE B 50F7
|



4 3 2 ]

BRACKET COMPATIBLE WITH 4435/4460 RADIO, 4435/1281/5322 AIR MOUNTING ON RR-APEX4-E

OPTION 1 OPTION 2
RRU4435 SHOWN FOR REFERENCE ONLY
(RRUs ORDERED SEPARATELY)

RRU4435 SHOWN FOR REFERENCE ONLY
(RRUs ORDERED SEPARATELY)

= /Z/
Y 77
. \;———. AA'&AV&;A\ ‘7// 7

X)) // 7, = e\ ® 2, =
/L / o S\ ) W ’
~) / A . s
P / o/ I 7
o ® S q #
M S / 2l @ A2
~ M / o B 4 ’
- S / ‘o I N oI (¥
: g @2 = 7 :C: N = g o) #
1 Q / o \ § L 4 ﬂ
A 0 ! . ’, @ N / q (. \ : /’
Yad N o= ’-’ \ ~ | a0 ’
A N ’_, J / O T [/ ’
% 4435 % — U
Yaud s ! a : : A
=/ N ESSh S 4 o) T

| N " 35
N ™ ERC
Id_l'i ~é = 66“35 W) ‘
)

1
(
(
\

27, 7, =
//‘//}}/// —— AT O <
Sy le s | TN el A
7
= 7 (S
7 R
4 @3
U Y N
3 / 3 =
. / N
'= 7 @ N = /&o
N 7 N \_ U =
§ o ° 13 ERC 4435
N
a 1
| g I —=1{ 433[110.0] (=
N
" N 4X M8 HARDWARE
<3 22> OO (RRU4435/4460, AIR 4435/1281/5322) 8
l 4X M8 HARDWARE — - - = L s
| (RRU4435/4460, AIR 4435/1281/5322) L—%O 0 o | _
(NEAR SIDE RRU HIDDEN FOR CLARITY)
(NEAR SIDE RRU HIDDEN FOR CLARITY) -9
O O
| | 4.33[110.0]
o o ¢ COMMSCOPE, INC. OF NORTH CAROLINA
OO -0 TITLE
i RRH MOUNT,ERICSSON,4-RADIOS
- O | o O
: 1 r SIZE SCALE DOCUMENT NO.
0o C | 112 RR-APEX4-E
DRAWING SHEET
MOUNTING HOLES POSITION @ 6 VERSION | STATUS | REVISION
@ 2024 CommScope, Inc. Confidential 01 RE B 6 OF 7




4 3 2 1
BRACKET COMPATIBLE WITH 4415/4426/4478 RADIO, 6308 POWER MOUNTING ON RR-APEX4-E

OPTION 1 OPTION 2

RRU4415 SHOWN FOR REFERENCE ONLY
(RRUs ORDERED SEPARATELY)

RRU4415 SHOWN FOR REFERENCE ONLY
(RRUs ORDERED SEPARATELY)

9,?\

W w2

<4

oN
$S.
ER"GA 18

/

T/

s, <>
(//Wmn’ -

//r/'/ /// / f~

[ 5

3
sSON Q
W ERICSs = © °
o |

P 1.18[30.0] —= ==
P
O 4X M8 HARDWARE
4X M8 HARDWARE ' ' By o (RRU 4415/4426/4478, POWER 6308 MOUNTING)
(RRU 4415/4426/4478, POWER 6308 MOUNTING) — O © ©
' \ (NEAR SIDE RRU HIDDEN FOR CLARITY)
(NEAR SIDE RRU HIDDEN FOR CLARITY)
00 & -®006
0 O %
o 4.33[110.0]
O O ¢ COMMSCORPE, INC. OF NORTH CAROLINA
00 ®-—006
TITLE
, / RRH MOUNT,ERICSSON,4-RADIOS
. O | o o
' ' - ' SIZE SCALE DOCUMENT NO.
C | 112 RR-APEX4-E
DRAWING
MOUNTING HOLES POSITION @& o | s |
@ 2024 CommScope, Inc. Confidential 01 RE B 70F7

4 3 2 ]



	Sheet1
	Drawing View2
	Drawing View5
	Drawing View9
	Section View A-A
	Drawing View22
	Detail View B (1 : 2)
	Detail View C (2 : 5)

	Sheet2
	Drawing View20
	Drawing View21
	Detail View D (1 : 3)
	Detail View E (1 : 3)

	Sheet3
	Drawing View59

	Sheet4
	Drawing View25
	Drawing View26
	Drawing View32
	Drawing View33
	Drawing View40

	Sheet5
	Drawing View35
	Drawing View37
	Drawing View38
	Drawing View39
	Drawing View41
	Drawing View42

	Sheet6
	Drawing View43
	Drawing View44
	Drawing View45
	Drawing View47
	Drawing View48

	Sheet7
	Drawing View49
	Drawing View51
	Drawing View54
	Drawing View55
	Drawing View56


